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INTERNET OF THINGS

i @ : 39 [Tt 3 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
Ae: () THAEA AT A

Note : There are three sections A, B and C in the paper.

(i) T CH yo7 G 1 F Gt 10 97T % IR 7T | I YT T 3% H 5 T
@i} 10 Y77 TGS FHR & Fo71 & & |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QFT & & 8 g 4 @ 55 6 Fel & I AT | IRF F97 3 37 F1 B F
§7T 5 SI15/50 Vsl § IR Gore |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) QFT @ S 6 399 7 @ 55T 4 o1 & IR HIT | TAF 97 8 3% BT 8 T
§97 15 T54/150 I151 7 3% G |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v)  T% Qv @ g4l 5 1 FHGR T 1 §T Hford |

Solve all the questions of a section consecutively together.
(vi) @1 aTsT H 3R g7 1 1R 7 i srare # a8 |

Only English version is valid in case of difference in both the languages.

AR - T
SECTION - A
1. (@) ffafea d 8 @ mEandl Ted F R & ?
(a) T IWET (b) fTearse yaem
(c) Ikl TG @) Zgadt
Which of the following are the functions of IoT Gateway ?
(a) Data Forwarding (b) Device Management
(¢) Protocol Conversion (d) All of these
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(i) Freeriaa o & H1 GRUE T H a9 1 uidfid i @ ?

(a) Teplrehct ToFgUeH (b) TS THFUEH
(c) FHfereep ToreIUEH (d) FehT TR
Which of the following actuators converts pressure into force ?
(a) Mechanical Actuators (b) Pneumatic Actuators
(¢) Electric Actuators (d) Magnetic Actuators

(iii) frferiad 8 & B o ue aeheies T -fommedt 8 7

(a) W (b) WR
(¢) W IRER A @ fis
Which of the following UAV technology is self-configuring ?
(a) Mesh (b) Star
(¢) Both Mesh and Star (d) Grid
(iv) SHAFE ?

™

(vi)

(a) SATSINE Y & Hifsd TWM  (b)  Arduino IDE o ifed S
(c) Arduino JUASN H FAY (d) AT YR 6 T
What is Sketch ?

(a) Program coded in IoT devices.

(b) Program coded in Arduino IDE.

(c) Services of Arduino UNO.

(d) Services of IoT devices.

Arduino ¥ % He3T ()RR ?

(a) foig el whis T g © |

b) FigEiFETEa@e |

() IE HRIsHH o e I G- AR FAT S |
(d) ST AT B TRl

What is function setup( ) in Arduino ?

(a) Point where code terminates

(b) Point where code starts

(c) Ititerates the task in program
(d) None of the above

Arduino UNO T fora fefrest vo fom € 2

(2 14 (b) 54

(¢ 11 @ 16

How many digital I/O pins are there in Arduino UNO ?
(2 14 (b) 54

(¢ 11 @ 16
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(vil) TfE=H T 21
(a) TTEHIHIL (b) e
(c) Hfe fereew ) IRETR
Raspbian is an
(a) Microcomputer (b) Minicomputer
(¢) Operating System (d) Assembler
(vii) FreTfeTfaa & & F A1 aRReE e eaeh o I3 He e o frwan @ ?
(a) e (b) AR
(c) TR §H (d) TERTHE

Which among the following is not a part of a sensor node connected to a wireless
sensor network ?

(a) Sensing Unit (b) Gaming Unit

(c) Processing Unit (d) Communication Unit
(ix) Tt H & B T S HE HT IR 7

(a) TITEHH (b) TE HEL

(c) TuTE 3R aTa et Qi (d) IR

Which of the following is the example of vector sensor ?

(a) Pressure sensor (b) Strain sensor

(c) Both pressure and strain sensor (d) Sound sensor

) T dden Rl Hiom s ?
(a) ORREH (b) TR
(¢ UeREHia R wsEaH  (d) 3T § BIg Tl

Which of the following can measure position ?

(a) Potentiometer (b) Encoder
(¢) both potentiometer & Encoder (d) None of these (1x10)
Y -t
L SECTION - B
2. Tl werR % Gesh i Had H EHEsy |
Briefly explain the different types of sensors. 3)
3. fafire mEaiid) veen! 6 =me 6 |
Explain the different [oT components. 3)
4, TER A WRETTALR ?
What are the constraints on sensor nodes ? &)
5. TEAEH % UCH FNR ?
What are the components of sensor nodes ? A3

P.T.O.



CS/IT/CI5002 (4 of 4)

6.

10.

Ll

12.

13.

14.

15.

aTereT <t farsiwarsti s 9R 4 §ar3u |

Explain the features of Arduino.

ST fveivu & YRR RT3 7

What are the types of data analysis ?

TETaRY UTS 61 gt T i s i |

Explain basic architecture of Raspberry Pi.

TgU & A @ @ g ?
What are the building blocks of Hadoop ?
A —
SECTION-C

loT Gf| anfieee srfehedan ) foear & sreT # |

Explain the IoT service oriented architecture in detail.

T o TTT STSendt 6 Sty ot == |
Discuss application of IoT for homes.

faftr= 221 yee aenfient <l e W |
Explain the different data handling techniques.

ToT # fafir=1 yepr & e Aeaeh &l gmemsd |

Explain different types of sensor networks in IoT ?

Raspberry Pi S8 & faf¥=1 Treeh! 31X sTer Suemvi shl s +:¢ |

Explain the various components and peripherals of Raspberry Pi board.
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Trgl IR TR Widishicll i STt i et Suvie 3R siafims smEand & fg

TohToT T8 @ |

Explain any four communication protocols which have immediate importance to

consumer and industry [oTs.
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